il
W
St
%
I

1. TE4
TH4 REAR 3 BEE)IfE LT (A1—P3) ITH
THEHA N REG NS
2. THEHNE
1)  HEI4 JURIIERE ST LESE i
2) £ I & PCHETH
3) T i 550 H ] H 40 64 8H10H
= SFn 84 2H10H
4) TEyE

E 2@ UM )R




B
T
iy
i
I

THE4 | BASEEIIBLMLT (A1—P3) ITH

TEHEX Sy - THE - R H A iR
v ) - Mg BT X
THHRYEL X
TR AT RUE T X BRI T 0. 68 t

PL SM400A 6<<t=25 ;

BYEI T 0. 004 t
PL SM400A t=4.5 ;

BYEI T 0. 002 t
PL SM400A t=3.2 ;

BYEI T 0.15 t
PL SS400 t=3.2 ;

BYEI T 0.16 t
PIPE STK400 42.7X2.3 ;

BYEI T 0.01 t
PIPE STK400 34.0X2.3 ;

BYEI T 0.13 t
PIPE STK400 21.7X1.9 ;

BYEI T 0. 02 t
L SS400 6X75X75 ;

BYEI T 0.55 t
L SS400 6X65X65 ;

BYEI T 0.39 t
L SS400 6X50X50 ;

BYEI T 1.3 t
CH SS400 5X 100X 50 ;

BYEI T 0.04 t
CH SS400 6X 125X 65 ;

BYEI T 0.78 t
H SS400 175X 175X 7.5%X 11 ;

BYEI T 0.26 t
FB $S400 9% 90 ;

BYEI T 0.14 t

FB SS400 6X90 ;

TAZIEE LN )R




il
W
>
%
T

THE4 | BASEEIIBLMLT (A1—P3) ITH

THXSy - L - Rl HL A B & & MmN

BRI T 0. 007 t
FB SS400 6X50 ;

BRI T 0.23 t
FB SS400 4.5X50 ;

BRI T 0. 002 t
FB SS400 4.5X25 ;

BYEI T 0.13 t
RB SS400 ¢ 22 ;

BRI T 0. 002 t
RB SS400 ¢ 16 ;

BRI T 0. 002 t
RB SS400 ¢ 13 ;

SR L 1 t
CHPL SS400 t=3.2 ;

R AR % i
BN SS400 M16X50(UN, 2W) Av¥ih ;

B b7y 296 i
BN SS400 M16X45(UN, 2W) Av¥ih ;

B Wb 5Bl DTy b 70 i
BN SS400 M16X40 (UN, 2W) Av¥ih ;

B b7y 296 i
BN SS400 M10X35(UN, 2W) Av¥ih ;

s EATR 12 i
BN SS400 M10X 30 (UN, 2W) Av¥ih ;

s EATR 644 i
BN SS400 M10X30(UN, 1W, 1TW) Av¥&h ;

UK WhFy b 74 HH
UB SS400 M10(32C) Av%dh ;

U Wh-Fob 148 L
UB SS400 M10(15C) Ay¥dh ;

[ 8 #*
SWRMS ¢ 5X 36 Ay¥fih (2=/miy¥) ;

T Wb 220 ES
SS400 M16X 125 Av¥ih ;

o EIEISEE SN H R




PR AR E

T
P

THE4 | BASEEIIBLMLT (A1—P3) ITH

TEEX 5y - LFE - fER B Az ¥ = & #A #m il N BN
My 28 A
SS400 M4 X8 Ay¥dh (2=mAv¥)
2 VA L Vs N 4 1
40X 3X 565 ;
2 VA L Vs N 4 1
25X 3X60 ;
THEgET = 1 535,000 | Av¥ 4.3 t
HDZT77 ;
Aok 1.4 t
HDZT63 ;
Aok 0.3 t
HDZT49 ;
TEE = 1 1,406, 796 | REEBSBE 1 =
SEESiE T 2 1 573, 972
T T = 1 3, 655, 090
THEHE =Y 1 842,940
(T RAEFAT) 2 1 4,498, 030
279G 5 = 1 406, 347, 525
T 358 ik T Y 1 97, 200
ik T =Y 1 97,200 |#HiE 6 t
PCIE T = 1 359, 184, 656
B Ay auMTRUE T = 1 165, 016, 480 | & Ay avHHiE 4 A
(A1~P1£2R)
SD345 D13~D22 40-12-25(20) (F-3k) 3200kN (3
20t) %! (12S15. 2B) ;

4 EIEISEE SN H R




it
W
=
%%%
I

THE4 | BASEEIIBLMLT (A1—P3) ITH

LKy - LA - FER

Eé

fz

%

ﬂlj“

ANy TR
(P1~P2£2RE)

SD345 D13~D22 40-12-25(20) (5-58) 3200kN (3
20t) A4 (12S15. 2B) ;

ANy TR
(P2~P3£%H)

SD345 D13~D22 40-12-25(20) (F-58) 3200kN (3
20t) A4 (12S15. 2B) ;

Htas SRk
s K55 A=
M12 X 60 ;

e

FK L

68, 404, 000

3T hIK
(A1)

Syl A BRI ] 1680kN ;

o

LK

(P1L)

s A3OK (15E)
LK

(PIR)

s A3OK (15E)
LK

(P2L)

s A3OK (15E)
LK

(P2R)

s A3OK (15E)
SRS ¥
(P3L)
s A SOK ()

o

o

o

KT 2100kN ;

KT 2170kN ;

KT 2040kN ;

KT 1790kN ;

i K1 1580kN ;

4 1

65, 173, 620

Hragss
A SN (s

39, 469, 726

BRAH
SD345 D13 ;
BRI

2.73 t

9. 78 t

TAZIEE LN )R




it
W
=
%
I

THE4 | BASEEIIBLMLT (A1—P3) ITH

TSy « TfE - FER B {7 % & A bl A iR

SD345 D16~25 ;

Ar=N7h= 216 1
D13/ M12 D19X50 ;

7L ARSI IR = 216 i
SD345 D13 AL L=30mm ;

VIR 121 m3
30-12-25(20) (F5®) HOKEBAF Y 2/7)-MZM
TG

PCh-7" 2,483 m
YUITWANGY N VAT 950kN (100t) (1S28.6) ;

BXIE 260 =7
Y VAN N YAFA 950kN (100t) (1S28. 6) [ =4
(ZEH)

HWET 2 19, 437,592 | $kf5 14. 24 t

SD345 D16~25 ;

/7Y =} 116 m3
30-12-25(20) (F5®) HOKEBAFY 2/7)-MZM
TG

PCh-7" 440 m
YUIT WANGY N VAT 950kN (100t) (1S28.6) ;

EXAE 48 =7
Y VAN N YAFA 950kN (100t) (1S28. 6) [ 2= 4
(ZEH)

R IR T 2 1,683,238 |HIf 1 =X

— e

B 0.21 t
SD345 D13 ;

i53i0) 4, 47 t
SD345 D16~25 ;

ay))—=h 5 m3
24-12-25(20) (E3#) ;

B3R EE T = 1, 494, 260

TAZIEE LN )R




it
W
=
%%%
I

THE4 | BASEEIIBLMLT (A1—P3) ITH

LKy - LA - FER

ﬂlj“

2/ - MREBEE T

R T
(L#T)

AT, 21ke/m2 (A T) BIREFTE T V7

R T
(FHEET)

A B0, 21keg/m2 (mAE Te) PREREFTE T V7/R

380 m2

100 m2

TEGEAT Jm A 1

28, 635, 426

& T

15, 777

B
(HLA #RA)
SD345 D16~25 ;

0.09 t

PEAKEEE T

9, 870,473

SRR
325X210 h=b5 HDZT77 ;
HEAKE
(&R T HEAK)
VP& ¢ 40mm ;
HEAKE
(&R T HEAK)
VP ¢ 200mm ;
HEAKE
(FER L HEAK)
VP ¢ 200mm ;
)Y =N A-R VR
REHEY
e
BRI ML

69 m

76 m

53 m

340 IS

T

12, 627, 996

P ¥T s - BE =il
(EFBT)

BEEE £90cm 24-12-25(20) (i) ;

P ¥T s - BE =il
(A R)

HBEEH R S 90cm 24-12-25 (20) (FifF) ;

258 m

TAZIEE LN )R




THE4 | BASEEIIBLMLT (A1—P3) ITH

TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! B
B 1 X
(BT
% 1 T
ALFER)
WEEK L X 1 3,468, 587 | {54 649 m
VE £% 54mm
WEE K 15 m
S S50 ;
7Ry AR E 2 1A
e B 355 SUS 600X 500X 164~215
t=2mm ;
7Ry AR E 2 1A
e B 245 SUS 600X 500X 164~215
t=2mm ;
FRATHE T = 1 2,606, 293 | AT 57 m
(2323 16 m
W=600mm H=175mm ;
B 1 X
(HRERER)
B 1 X
(BB 7-50)
BRI ML
#HHR L =X 1 46,300 | $7HR 1 *e
(KEFEAR)
B A A4 200 X300X13 ;
) - ME S Rk iE L = 1 16, 879, 823
a8 1. = 1 10, 260, 356 | #1 T /&4 1 =
B BHE Y 257 7y L 1 X
T E5# 1 X 1 3,505, 667 | HRIER 1 X
M¥=7" vy Bk 1 X
B AR L X 1 3,113,800 | &1 45 1 X

-7- E a2 Ui




THE4 | BASEEIIBLMLT (A1—P3) ITH

TERXSy - THE - R Hofr B & & il bl M EN

R L X 1 56, 160

A R =X 1 56, 160 | 23iW#5 8% B 1 2y
BT EE =X 1 406, 347, 525
B RER =X 1 57, 786, 800
el 2 X 1 16, 664, 800

Bt sy F2y 1 13, 658, 800 | B fiiak FaAT ~1 Rk E H 1 =«

BT B ERER 1 X
B BREYGEY, (3G L) =X 1 3, 006, 000
Hom e (RFkL) =X 1 41,122, 000
T =X 1 464, 134, 325
B FR =X 1 115, 471, 000
(BL R ) =X 1 579, 605, 325
N i =X 1 584, 103, 355
— R A =X 1 76, 276, 645
Tk =X 1 660, 380, 000

-8 - E a2 Ui




